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=L 48 62 65 127|/K SET 152 229 272 501|Fk1 X 285 377 392 769| =;HET 59 101 104 205|RE 85 131 144 275
th T 29 43 41 84|iRE SHET 224 337 304 641|F2 K 258 333 352 685|==BHHET 43 67 67 134| R BT 45 74 91 165
$BaET 38 45 55 100| L Z HHET 90 148 179 327|3 R 45 55 63 118|483 MR ET 33 54 54 108|745 #i R ET 32 71 75 146
T HT 76 106 102 208|425k BT 26 52 42 94|H4X 335 480 506 98642 1E 3FHT 21 43 48 91| {22 BT 14 28 30 58
FEFET 98 125 134 259|F HET 22 32 40 72| KX 90 109 132 241 |¥8 TUET 7 109 106 215| L S HAET 16 26 25 51
REHT 45 57 64 121|H & SHET 53 90 79 1694t % HET 400 589 644 1,233\ RATHT 186 258 262 520| & FHHET 36 59 64 123
A EHET 260| 379 383 762 |12 2ZHT 192 290| 294 584 ARHET 62 106 93 199 |82 HT 50 66 61 127 | ZF T RET 64 103 89 192
J\BTiHy 13 19 20 39|y 2HT 87 137 153 290 [ FrAET 79 143 130 273|ch BEAfT 104 116 119 235|2 HAT 33 78 69 147
/B mfT 21 34 50 84 (7K B HET 60 91 100 191|8@H—TH 78 104 111 215|fE AL BT 401 538 514|  1,052[RBHT 57 97 108 205
A RIET 24 37 47 84 (12 HTHET 13 24 28 52|EWM_—TH 94 122 156 278| A& TET 52 82 83 165| & tE SHET 21 4 53 94
R—&HET 27 34 38 2|RINHFR 306 439 405 844|#IH=TH 106 126 151 277 |FENE 153 201 207 408 |16 B BT 34 57 71 128
HEAT 77 88 98 186|f28m—T8H 196 275 289 564|#HOT B 143 189 215 404[E=EBEME 120 169 171 340| B A HT 36 67 61 128
R=&HET 26 24 43 67|f=BETFE X 57 93 106 19| AT B 79 123 113 236 |FaEMX 144 197 223 420|lLEE—TH 61 80 95 175
BIA\VER 426 554| 592 1,146|®)IIHIX 5t 1478 2237 2291| 4528|RFER 54 78 77 15548 METR X 68 103 96 199|lLE&E=TH 88 140 146 286
BwIN\VEE 103 131 148 279| T AHEFHT 87 127 131 258t R ATERX 191 290 330 620| = EHT 125 169 170 3PY(LEE=TH 88 140 145 285
B/A\vEER 229 329 329 658 |Hi B A0 EFET 63 100 89 189|H—TH 148 218 242 460|FEE—TH 55 83 62 145\ |LEABMETH 140 126 171 297
NSES i 191 211 244 455|/)s L BT 21 37 37 74|1HR=TH 182 273 278 551|FES-TH 17 155 177 332|ILEEBETHE 87 141 148 289
$TEET 435 681 701 1,382 LA EFHT 62 92 97 189|H=TH 155 234| 244 478|EEHT 90 136 112 248(lLEABATH 109 179 166 345
BXET 19 28 25 53| A EFET 66 97 86 183|#H M T B 116 196 203 399|hEAMX 5t 1,892 2647| 2636 5283 LEMX 5t 1,046| 1,638 1,751 3,389
AT 12 13 19 32(tREFHIX Bt 299 453 440 893| HimiMtX 5t 2900 4,145| 4432 8577|FHAfT 150 211 206 M| FRER—TH 136 202 192 394
ERATRX 16 21 22 43| B 3LHT 92 149 167 316 |fESHET 188 280 315 595| £ — OHT 49 82 93 175| FREBFER=-TH 95 138 120 258
SRHTHT 20 25 34 59 ¥ Z<HT 140 204 226 430| A 86 124 139 263|455 SFEHT 88 126 124 250| FRER=TH 149 206 214 420
JBET 85 100 108 208 | % FE BT 235 269 326 595|148 )11 X 55 78 98 176|AR2HET 180 303 313 616| FRERMTH 161 223 242 465
FAARET 466 639 653|  1,292(dtBHET 65 100 116 216|EAE)IIX 44 74 79 153|454 BT 30 57 58 15| FRERAETH 126 180 191 371
JHEKRIR 92 108 113 221 5RPE SET 13 20 20 40(48)11 %7 ET 107 170 192 362|Z HLHET 77 121 134 255| FREFRATH 157 241 265 506
dEEAR2X 192 259 281 540 | K BT 24 46 47 93| +f FHTET 18 31 42 73 | &Iz ET 118 181 186 367| FREBE —TH 133 183 193 376
JEHEARIX 61 61 77 138|dL X 68 76 94 170|fEIFHEMX 5 498 757 865|  1,622|EKAT 53 93 99 192 FREBF_THE 140 198 195 393
R4 166 241 236 477|% M —TE 132 210 220 430| = K BT 406 624| 596  1,220|FEHBET 16 27 30 57 FREB=TH 129 178 185 363
JEHEARER 292 384 399 783| LA Bt 769 1,074 1216 2,290|= sk rifT 354 524 558  1,082|#3F1F—TH 91 136 133 269| FREBEMTH 103 129 146 275
JtEAR6X 168 221 223 444 = {RET 135 185 226 411|123 HEHET 41 75 77 152|A# 3 EZ=TH 52 82 70 152 FREBEBETH 132 167 164 331
EXBE=TH 156 191 190 381 EAIRE 9 12 15 27| &K HET 56 85 109 194|#F1F=TH 62 90 98 188| FREFAATH 135 191 211 402
H=—TH 80 107 103 210| B 9 17 20 37|ch F{RET 39 66 64 130|# S IFWETH 91 137 131 268| FREFBLTHE 174 247 275 522
FE-TH 90 119 140 259|FHEX 7 13 14 27(/\EHHET 43 79 86 165|#F1FHETH 63 97 98 195| FREA/NTH 113 150 157 307
FE=TH 85 101 120 221|3KALET 38 57 69 126|/\HHET 201 318 346 664|AF([ZATH 65 89 92 181| FREFE —TH 101 157 154 311
Am—TH 97 11 128 239 ERHET 20 30 24 54— 1R HET 60 73 85 158|@&iE—TH 90 138 140 278| FHREHEM_-TH 136 224| 217 441
AH_TH 112 148 189 337[/M1IET 37 55 68 123| & ERET 149 238 239 477|#KE=-TH 52 76 81 157| FHEF X 5t | 2,120| 3,014 3,121 6,135
BH—TH 68 81 102 183| L/ ET 34 52 68 120[REATR 330 498 485 983| MpithX 5t 1,327 2,046 2086| 4,132|4HET 108 153 158 311
E8-TH 99 141 135 276| 2 FRHET 31 42 51 93| E KX 160| 233 237 470|143 HT 362 518 520  1,038|EEAHET 93 115 135 250
#EB—TH 123 142 162 304| = {RETHET 95 169 160 329|IRAERK 111 158 163 321 | & E BT 102 171 164 335| FGAHHAT 90 135 122 257
XEBE-TH 87 135 134 269|EAX 76 104 103 207 |—1ZHE 190 287 261 548|453 HT 304| 428 401 829|FM—TH 100 137 125 262
RE—TH 147 186 201 387| = [RHET 59 95 87 182|HSViEsE—TH 72 104 107 211| AT 337 491 466 957|FEM_TH 67 81 89 170
KLE=ZTH 62 70 74 144| ZBRBX 5 550 831 905| 1,736|HVEIE—TH 108 152 152 304|4BpHIX 5t 1,105| 1,608 1,551 3,159|FHM=TH 65 96 97 193
#%—TH 65 82 81 163| = HLET 120 216 219 435|HSVEE=TH 73 103 102 205 XIREHET 65 104 97 201
5% -TH 60 66 82 148| K5k BT 75 118 136 254|HESVIESEWMTH 116 174 157 331 REIREFET 90 116 118 234
#H=TH 18 28 28 56(#AE X 107 143 172 315|MBMIX &t 2,509| 3,791| 3824 7615 EEEPN ) 75 100 107 207
BX—TH 109 178 185 363|MHAR—TH 149 140 200 340 mERH—TH 46 65 77 142
BX=TH 5 7 8 15| H#FR_TH 60 76 76 152 ESi1r 59 65 77 142
BRXRETH 85 104 131 235| KK X 64 105 105 210 NEHMWX 5t 858| 1,167 1,202 2,369
BEHXATH 49 68 78 146(F FHILX 115 174 172 346

BEXtTH 103 130 146 276| M FHHAX 44 69 76 145 N ERIC 23,855| 34,168( 35,706| 69,874
BXRNTH 80 115 128 243| R FHHEITX 45 68 57 125

BRAATH 1 1 4 5|1FHEX 179 269 271 540

BX+TH 10 12 9 21[—AHX F 958| 1,378 1484 2862

MIEMX 5t 5546 7,382| 7902 15284
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BT (X) £ HEH| B ES £ BT (X) £ HEH| B S £ BT (X) £ HEH| B ES &t BT (X) £ HEH| B £ g BT (X) £ HEH| B S B
EINE:(or) 35 39 48 87|/ \BEHET 144 191 214 405| 3R R BT 119 166 195 361 3T AT 25 Ffl 45 69 95 164|[L HERT 43 72 80 152
EJNELap 145  232| 238 470| = =0T 47 69 78 147|E R A ET 224| 279 309 588|3A] RETILE 29 38 39 77| A EFET 21 38 44 82
=) ETEE 36 45 52 97(E= LLIET 196 316 350 66638 % FF AT 199 328 340 668 37T BT 2] 102 153 182 335|773—ILBith 29 47 46 93
=) HETER 110 140 174 314|ch SHT 49 90 84 174|BA%—TH 104 156 148 304 NETEYD R 51 74 77 151 & HT 62 89 115 204
EJNE 4] 32 49 52 101 &= LT 43 68 70 138 |38 % F T 42 63 59 122 BT S\ C AR 55 86 76 162| % R HET 44 52 50 102
EJIIE4:E 39 44 55 99— /=X 5t 479 734 796  1,530|FaiEASRAT 35 68 63 131 [T NRT OB 16 25 27 52| T EFHET 44 87 82 169
EJIIE i) 43 58 66 124|483k S HT 114 125 129 254|FC EHT 56 89 91 180[;AT NETHE 3 2 7 9| BT 97 176 172 348
EJNEES 36 43 51 94 |#B SR FT AT 87 127 132 259 |Fi EHT 148 229 223 452 |;AI QBT Lt 6 6 8 14| = 3R AT 31 52 55 107
EJNERa:ri 58 70 81 151|#BkRABT—T B 29 43 50 93(EAMmTH 168 269 258 5273 NET AR 23 35 47 82| & HT
H)IKRETR 29 34 42 16|#5kABT_TH 30 41 44 85| =TH 114 152 155 3073 BT £ 10 10 14 24(THA 25 27 35 62
EJIIE 3] 38 37 49 86(#RKRART=TH 38 63 74 137| &% FHT 111 171 179 350|;AINETHR B 17 21 18 39| LHAE 20 33 36 69
Z)ISHETR 157 196 228 424|BEEABTIET B 189 267 263 530|'E & 8T 145 235 244 479 AN ET £ 7 5 4 9| B = AT 56 84 107 191
EJNE:ESri 46 50 59 109|#B 3k A A BT 158 193 229 422 | BAETET 94 166 160 326 AN NET T 7 4 2 2 4| 5Il'E H BT 17 27 35 62
EJNEES g 75 104 110 214|483k & RET 114 145 150 295 | EAEF T 75 107 104 211 ;A NETHE 21 24 25 49|42 FRET 54 54 55 109
EJNPari) 84 100 120 220|E83E L AT 39 43 52 CHEN L) 74 97 93 190[;TAMIE F 389 550 621 1171 #8775 KET 29 42 45 87
=)IERTR 102 144 147 291|#83K T SRAET 31 4 44 85| = S FHT 299 429 427 856| T &H & 63 87 104 191 ERHET 17 19 24 43
EJNEIN:r] 38 51 60 11|88k A% 36 58 53 111 | #rEp A EET 31 52 42 94| EHH 94 105 141 246 | A HERT 14 14 13 27
EJNEIN:IEY 83 97 111 208 |#5 >k 1 <F BT 166 209 260 469| MMIX  Ft 2,038 3,056| 3,090 6,146|k% DR 58 86 81 167| ="V #EHT 5 1 4 5
EJNEIE:Lari 176 267 258 525| &8k E AT 80 108 129 237| B BT 172 262 293 555|1&E B 19 36 39 75| $URART 5 3 4 7
=) FNKRET R 167 233 254 487|#8k /K P HET 35 39 50 89(F OHET 117 198 206 404| KFHE 26 3 23 26 | f7] FET 11 11 12 23
E)|IX 5t 1529| 2033 2255 4.288|#Ek KEAT 201 270| 291 561 [ K FrHET 58 93 90 183K 37 34 45 79|40 R ET 2 2 0 2
REfT 271 375| 440 815|#B3E K E Fa T 39 68 62 130|885 S ET 18 28 31 59| R 38 69 57 126| B BT 1 0 1 1
ES:liing 252 327 362 689|E8KKFET_TH 5 7 7 14|47HT 51 87 90 177| F KB 27 46 49 95(48;EHT 24 32 53 85
FBEHET 36 57 57 114|EBRKFRT=T B 58 89 101 190| e/ $ERET 40 74 74 148| L KB 24 40 35 75| % KHET 42 58 70 128
R IERT 34 69 64 133|#BsEKFRTIE T B 24 40 39 79| REFET 54 77 75 152| KiB# 15 24 20 44| TEHAHE 62 102 110 212
Ak S ET 130 237|224 461 [#83E B EET 30 42 50 92|t [RET 52 73 90 163|Hh e 55 55 73 128| L AHET 42 58 70 128
ESHET 246 360 390 750 [ESSRIX Bt 1,503 2,018 2209| 4,227|%KHET 22 34 36 0| SHSHE 5t 456 585 667| 1,252|Fa{k RHET 33 61 50 111
S jth BT 69 110 121 231| A ¥8HT 214| 335 357 692| B M Ht 278|  403| 425 828 =VERHE 48 92 110 202
Ry il g 243 332 375 707 [/INHRET 173|239 274 513| L RETHET 150 217 238 455 SR LT 49 76 84 160
EHEAT 206 421 458 879(BA—TH 147 210| 200 410|#E kBT 196  290| 290 580 B4 E7 ET 6 5 7 12
ESHET 49 60 75 135|/MIIERET 83 125 128 253 | iR AAFTET 147 228 223 451 TASHE 15 22 14 36
BB 130 223 220 443| B EFHT 222 335 349 684 |/ ERERET 11 20 13 33 SHtiE § 948| 1436| 1,583 3,019
EBFER 111 175 194 369|BA S BTIL/E 44 55 65 1203+ A1 ET 49 83 93 176 B 64 76 98 174
BESFH 113 194 183 377|BHSETE /K 21 28 37 65|45 AR FET 126 210 194 404 ES 6 6 5 11
IREX § 1,980| 2940 3,163 6,103|BEHETHHf 51 83 82 1658B/BIIX  § 1,541 2,377| 2461 4,838 R 103 135 159 294
EET1X 56 77 82 159|BA S BT /41 30 53 57 110 HRE
EE2X 49 66 92 158|&/ AR FET 27 42 41 83|ESKihisk F 7,585| 11,211| 11,614 223825 Z[R 32 32 48 80
EESRE 41 52 61 113|BH BB HET 85 143 135 278 f falm 23 24 26 50
EET4R 47 52 82 134| L% SHT 46 77 74 151 R 8 5 6 11
EETS X 117 163 182 345| T FHSHET 66 93 96 189 Bra 1 2 1 3
EET6RX 132 190 189 379|FHREEHET 164 246 233 479 EOihs 3 237 280 343 623
EET7 X 39 60 57 7| HEFEEHE 212 311 307 618 =13 279 397 414 811
EET8X 92 124 127 251|EHAZEHT 236 341 329 670 25 99 124 130 254
RETORX 110 132 138 270| At FR SHT 128 181 172 353 THE 0 0 0 0
EBT10K 214 291 308 599 |76 7% SET 23 33 34 67 Bugihis 5t 378 521 544 1,065
EET11R 41 67 57 124|hF SHET 52 96 88 184
EAT12K 19| 204 183 387| LUK & 2,024| 3,026| 3058 6,084
EMX 5t 1,057| 1,478 1,558 3,036 & &t 38,414| 55,202 58,054| 113,256
EJllhcic iy 4566 6,451 6,976| 13427




